
ROUNDING OFF TO THE NEAREST 100 

 

Help the frog to decide which lily pad will be closer by rounding off the number in the frog to the nearest 100. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

428 
428 ≈ _________ 

  

2 675 
2 675 ≈ _________ 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

252 
252≈ ____________ 

  

4 524 
4 524≈ ____________ 

  

548 
548≈ ____________ 



 

  

222 
222≈ ____________ 

  

1 385 
1 385≈ ____________ 

  

1 153 
1 153≈ ____________ 


